1. Read the text and choose the correct option A, B or C.

a) Moving stones are a natural phenomenon.

A) Right B) Wrong C) Doesn’t Say
b) Moving stones are small, that’s why they can move.

A) Right B) Wrong C) Doesn’t Say
c) Tourists come to Death Valley to see them.

A) Right B) Wrong C) Doesn’t Say
d) Scientists explain the reason of the movement as wind.

A) Right B) Wrong C) Doesn’t Say
e) If the wind comes from the west, the stones move through the south.

A) Right B) Wrong C) Doesn’t Say
f) The wind can move stones because the ground is icy.

A) Right B) Wrong C) Doesn’t Say
g) This year the valley is very dry so the stones aren’t moving.

A) Right B) Wrong C) Doesn’t Say

2. Read the definitions and match the words in bold with the definitions. There is ONE extra word.
a) difficult tounderstand (adj) .

b) presents(n) e,
c) to have a particular kilogram or pound (v)

d) narrow paths or roads with a rough uneven surface (n) ...



